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= Year 9/10   = QUADRATIC FUNCTIONS   = Worksheet 5
	1.  Find the coordinates of the intersections of the line 
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 and the curve 
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	2.  Find the coordinates of the intersections of the line 
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	3.  Find the coordinates of the intersection of the two curves 
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	4.  Find the coordinates of the intersection of the two curves 
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	5.  Write down the coordinates of any three points that lie on the curve 
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	6.  Write down the x-coordinate of two points with the same y-coordinate of 2 and lie on the curve 
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	7.  Sketch the following curves on the same set of axes.
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	8.  Find the area of the region bounded by the two parabolas 
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	9.  Write down the equation of the curve that is the translation of 
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 to the left by 1 unit.

	10.  Write down the equation of the curve that is the reflection of 
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 in the y-axis.



	11.   Write down the equation of the curve that is the translation of 
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 to the right by 1 unit and then reflection in the x-axis.

	Numerical, algebraic and worded answers.



1.  (1, −1), (0, 1)


2.  (0, 3), (−1, 1)


3.  (1/2, 3/4)


4.  (2, 5), (−2, 5)


5.  For examples, (0, 3.61)


     (1, 2.72), (−1, 4.96)


6.  −1/2, 1


8.  1 square unit


9.  y = −x − x2


10.  y = −x − x2


11.  y = 2x − x2
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